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An n x n homogencous system of oquation AY=0
is given. The Rank of A is 7 <n. Then the system

has :  http://www.rdvvonline.com

(a) » - r independent “solutions
(b) r independent solutions

(c) no solutions

(d) » - 2r indcpendent solutions

ATFN ' 6 +11x-6=0 F | ¥—

(a) 1,2,3
(b) 1,3,4
() 0,1,3

(d) 0,1,2

The roots of the equation x' —6x’ +11x-6=0

5
(a) 1,2,3
(by 13,4
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The following represents "Conditional” .
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(a) lug[x+ Jr_+_l)

®) log(x+Vx' -1)
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The value of Cos i ' x Is

{a) Iog.(.r+ -J?ﬁ)

(b) log fr+ vr' _1)
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(d) None of these
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2. W R w1 wwemm {(3,4,-1).(1,2, 0).(1.0,~1)}
= TR tl

Show that the subset
{[3‘4'-]}'(1!21{3)1{110,_])}
or R’ is lincarly dependent,
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Prove that the eigen values of a Hermitian Matrix arc ST HHTHR T FHA

Explain Reciprocal equation.

reals.
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Explain charactenstics cquations. s S Explain tautology and contradiction.
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Explain charactenstics poly Z S Define Boolean Algebra.
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Find the root of the following equation if they are in GP. fan " 2x+tan” 3x =~

¥ -7 +14x-8=0
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Solve ;

tan~' 2x+1tan~' 3x = %:-

faz wifm—

312 cos’ 8 = cos 60+ 6cos4B8+15¢c0s28+10

Prove that :
32c0s" 6 = cos68+6cos48+15¢c0s20+10
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Note : Aunempt all flve questions. One question is
compulsory from each unit. Each question

carrics 5 marks.
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7. HE

8 6 2
A=|-6 7 4

2 4 3
¥ e oH T d1a Jfvemforr wfew s =
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Find all the Eigen values and corresponding Eigen vector
of the matrix

8 -6 2
A=|=-6 7 —4
2 =4 3
raar
Or
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2 1 -1
A=|0 3 -2
2 4 =3 -

Find the Rank of the following matrix A.

2 1 -1
A=l0 3 =2
2 4 3
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State and prove Cayley Hamilton Theorem
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Or
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X+y+z=6
X=y+2z=
2x+y—z =]
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Solve the following system of equations by using matrix
method

-1
Unit-111
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27r° ~9pgr + 2¢' =0
If the roots of the equation * - prieqx—r=0 are in

HP. Then prove that 27,° ~9pgr+2g° =0.
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Find the equation whose roots are the double of the -V
reciprocal of the roots of the equation Unit-V
o +36 —6x +2x-4=0 ll.&mmmwﬁmqﬁﬁmﬁﬁq.

State and prove De-Moivre's theorem.
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Describe switching circuit.
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(141) +(1=i)" =2'* cos—

If n is any positive integer, then prove that :
0 (a+b) =a-b’
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(141) +(1=1) =25 cog =
(i) (a.5) =a’+b’ FabeB

In Boolean Algebra prove that :
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